



Terms and conditions

contest « Montréal on the Menu: A Year of Dining Out »

From December 1, 2025, to October 23, 2026

1. CONTEST DURATION

The “*Montreal on the Menu: A Year of Dining Out*” contest is organized by the McCord Stewart Museum as part of promotion of the exhibition *On the Menu. Montreal: A Restaurant Story*. The contest takes place in Montreal, Quebec, Canada, from December 1, 2025, at 9:00 a.m. until October 23, 2026, at 11:59 p.m.

2. ADMINISTRATOR

The contest is organized by the McCord Stewart Museum, located at 2175 Victoria Street, Montreal, Quebec, H3A 2A3 (hereinafter “the Administrator”), in collaboration with 12 Montreal restaurants listed in the appendix (hereinafter “the Partners”).

3. ELIGIBILITY

The contest is open to any individual who:

- a. resides in Quebec;
- b. has reached the age of majority at the time of entry;
- c. has provided accurate personal information enabling the Administrator and its Partners to contact them within a reasonable timeframe for prize attribution. The winner will be contacted by email;
- d. has given explicit consent to be included in the Administrator’s contest database and agrees to receive electronic communications (newsletters, offers, promotions) in accordance with Canada’s Anti-Spam Legislation (CASL) and Quebec’s Act Respecting the Protection of Personal Information in the Private Sector. **This consent is mandatory to validate contest participation.** Consent may be withdrawn at any time using the unsubscribe link included in each communication.
- e. complies with all other provisions of these Terms and Conditions.

- f. Employees of the McCord Stewart Museum, the contest Partners, and the exhibition “On the Menu. Montreal: A Restaurant Story,” as well as their immediate family members (father, mother, siblings, children), legal or de facto spouse, and all persons with whom they are domiciled, are excluded from participation

4. HOW TO ENTER

- 4.1 To participate, entrants must complete the online entry form available on the McCord Stewart Museum website. Only one entry per person per month is permitted. Each monthly entry provides an additional chance to win the Grand Prize. Participation is free; no purchase is required. Access to the internet and an email account is necessary, but public libraries, retail businesses, and other establishments offer free computer access, and some service providers offer free email accounts. No entries via social media will be accepted.
- 4.2 These rules are available in English and French on the McCord Stewart Museum website. In the event of any discrepancy between the English and French versions, the English version shall prevail. Participation in the competition implies full acceptance of these rules.

5. PRIZES

There are twelve (12) prizes available:

eleven (11) **Monthly Prize: Restaurant of the Month**
and one (1) **Grand Prize: A Year of Tables for Two.**

- **Monthly Prize: Restaurant of the Month**—Each month, one winner will receive a voucher for meal for two at one participating Montreal restaurant. Specific terms for each restaurant (validity, restrictions, deadline, reservation details are provided in the appendix).
- **Grand Prize: A Year of Tables for Two**—At the end of the exhibition, in October 2026, the Grand Prize will be drawn among all contest participants (excluding the 11 monthly winners) receiving one meal for two per month for a total of 12 meals at 12 participating restaurants. Reservations for all Grand Prize meals must be confirmed by October 31, 2027.

Prizes — Restaurant of the Month

11 participating restaurants:

- Estiatorio Milos
- La Spada
- Lloyd
- Moccione
- Parapluie
- Restaurant Alep

- Restaurant de l'ITHQ
- Restaurant Les Mômes (Bring your own wine)
- Les Rôtisseries St-Hubert Ltée
- Toqué!
- Tuck Shop

Grand Prize — A year of dining pleasures

12 participating restaurants:

Estiatorio Milos

- Estiatorio Milos
- La Spada
- Le Mousso
- Lloyd
- Moccione
- Parapluie
- Restaurant Alep
- Restaurant de l'ITHQ
- Restaurant Les Mômes (Bring your own wine)
- Les Rôtisseries St-Hubert Ltée
- Toqué!
- Tuck Shop

The total number of prizes is 12 for a total value of is \$6,440 CAD.

6. SELECTION OF WINNERS

Starting December 1, one person per month will win a meal for two at the restaurant announced for that month (11 in total). On October 26, 2026, one person will win the Grand Prize. Winners are selected at random from eligible entries.

Prizes: Restaurant of the Month

The online entry form will open on the first Monday of each month from December 2025 to October 2026. Entries close at 12 p.m. on the last Friday of each month - except for October 18, 2026, the closing date of the exhibition. The winner will be selected at random from all entries received during the current month.

Grand Prize — A Year of Tables for Two:

On Monday, October 26, 2026, one winner will be selected at random from all entries submitted between December 1st, 2025, and October 23, 2026, at 23:59.

7. ODDS OF WINNING

Odds of winning depend on the number of eligible entries received during the contest period.

8. AWARDING OF PRIZES

To be declared a winner, the selected entrant must meet all eligibility criteria and comply with the contest rules. The winner will be contacted by the Administrator or its representatives by email within three (3) business days following selection. The winner has one week to claim their prize at the McCord Stewart Museum, 690 Sherbrooke Street West. If unclaimed, a new winner will be selected.

9. GENERAL CONDITIONS

9.1 Verification of entries:

All entries are subject to verification by the Administrator. Any illegible, incomplete, or fraudulent entry will be disqualified. All decisions by the Administrator or its representatives regarding eligibility or disqualification are final and binding.

9.2 Acceptance of prizes:

Prizes must be accepted as described and cannot be transferred, substituted, or exchanged for cash, except as provided in these rules.

9.3 Price substitution:

The Administrator reserves the right, at its sole discretion, to substitute a prize with one of equal or greater value, including cash value.

9.4 Number of prizes/Winners:

By entering, participants acknowledge that the Administrator is not required to award more prizes than those available, as established in the official rules.

9.5 Other adjustments to the contest terms and conditions:

The Administrator reserves the right to modify, cancel, terminate, or suspend the contest, in whole or in part, for any reason, including events beyond its control affecting the administration, security, fairness, or normal operation of the contest, subject to approval by the Régie des alcools, des courses et des jeux du Québec, if required.

9.6 Exemption and exclusion of liability:

By participating in, or attempting to participate in, this contest, each participant and/or purported participant agrees to the following: (i) to forever release, discharge and hold harmless the competition group and its shareholders from any and all claims, actions, damages, demands, causes of action, lawsuits, debts, obligations, accounts, bonds, agreements, warranties, indemnities, contracts or liabilities of any kind arising out of or relating to their participation or attempted participation in the contest; their compliance or non-compliance with these contest rules; or their acceptance and use of the prize; and

(ii) that if they are selected as a potential winner, they will sign the declaration and release form(s) (see paragraph 9.1) before receiving their prize. The contest group and its shareholders shall not be held liable for any loss, incompleteness, lateness or misdirection of entries, or for any failure of the contest website, if applicable, during the contest period. The same applies to any technical malfunction or other problems with telephone lines or networks, online computer systems, servers, access providers, computer equipment or software, or for any other technical problems or congestion on the Internet or at any website, or any combination of the foregoing. The contest group and its shareholders shall not be responsible for any injury, death or damage to any person or property resulting from or in connection with a person's participation or attempted participation in this competition. Deliberate attempts to damage any website or undermine the legitimate operation of this competition are in violation of criminal and civil laws. In the event of such an attempt, the administrator reserves the right to seek the fullest extent of remedies or damages permitted by law, including criminal prosecution.

9.7 Name/Image of winners:

By participating in this contest, each winner authorises the administrator and their advertising and promotional agencies, as well as their respective employees and other representatives, to broadcast, publish and otherwise use their name, photograph, image, statement relating to the contest or any prize, place of residence and/or voice for advertising purposes for the contest only, including through social media posts, without any form of compensation.

9.8 Personal data

Personal information collected is used for contest administration, promotion, and to inform participants of results, in accordance with the contest rules and the [McCord Stewart Museum Privacy Policy](#), unless participants consent to other uses at registration.

9.9 Disputes – Quebec residents:

Any dispute regarding the organization or conduct of a contest may be submitted to the Régie des alcools, des courses et des jeux for resolution. Any dispute regarding prize attribution may be submitted to the Régie for intervention to attempt resolution.

9.10 Identity of the participant:

For the purposes of these rules, the participant is the holder of the email account listed on the entry form. The prize will be awarded to this person if selected and declared a winner.

9.11 Appendix – Terms and conditions of partner restaurants:

The specific terms and conditions for each restaurant (website, price value, expiry date, booking conditions) are detailed in the appendix.

APPENDIX – Restaurant Partner Terms

Specific terms for each restaurant (website, prize value, deadline for use, reservation modalities) are detailed below

| Restaurant | Website | Value of the prize | Use-by date |
|--|---|--|------------------|
| Estiatorio Milos | Estiatorio Milos | Two (2) meals for two people worth up to \$500 Total value: \$1,000 | |
| La Spada | LA SPADA | Two (2) meals for two people worth up to \$250 Total value: \$500 | |
| Le Mousso | lemousso.com | One (1) meal for two people worth up to \$500. Total value: \$500 | |
| Moccione | Moccione | Two (2) meals for two people worth up to \$250 Total value: \$500 | |
| Parapluie | Le parapluie | Two meals for two people worth up to \$250 Total value: \$500 | |
| Restaurant Alep | Alep Petit Alep | Two (2) meals for two people worth up to \$200 Total value: \$400 | |
| Restaurant de l' ITHQ | Restaurant de l'ITHQ - Talents d'ici, découvertes d'ici | Two (2) meals for two people worth up to \$300 Total value: \$600 | October 31, 2027 |
| Restaurant Lloyd | www.restaurantlloyd.com | Two (2) meals for two people worth up to \$200 Total value: \$400 | |
| Restaurant Les Mômes Bring your own wine | Restaurant Les Mômes Montréal | Two (2) meals for two people worth up to \$200 Total value: \$400 | |
| Les Rôtisseries St-Hubert Ltée | La rôtisserie par excellence depuis 1951 Restaurant St-Hubert | Two (2) gift cards valid in all restaurants and for deliveries \$400 Total value: \$800 | |
| Toqué! | L'art de la table selon Toqué! | Two (2) meals for two people worth up to \$220 Total value: \$440 | |
| Tuck Shop | Tuck Shop | Two (2) meals for two people worth up to \$200 Total value: \$400 | |